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@ 1002g = kg g
@ 2kg 3g = g
@ 19kg = 9

® 14600g = kg
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B ECEIIREIIIEFEANEILL),

D 8kg 500g = 8500 g
@ 1002g = | kg 2 g

® 2kg 3g = 2003 g

@ 19kg =| 19000 g

® 14600g = | l4 kg 600 g
® 120000g = 120 kg

@ lkg 8g = 1008 g

® 10600g =| 10kg 600 g
@ 3kg 230g = 3230 g
@ 110kg =| 110000 g

@ 1170g =| | kg 170 g

@ 7900g = 7 kg 900 g

/24

@ 10kg 500g = 10500 g
@ 13kg 200g = | 13200 g
® 5080g =| 5 kg 80 g
8850g =| 8 kg 850 g
(D 34kg =| 34000 g

| 6000g = 16 kg
10000g = 10 kg
@ 75kg 100g =| 75100 g
@ 60700g = | 60 kg 700 g
@ |kg 40g = 1040 g
@ 27900g = | 27 kg 900 g
@ 102000g = 102 kg




